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CE-403 (GS)
B.Tech. I'V Semester
Examination, June 2023
Grading System (GS)
Structural Analysis-I

Time : Three Hours

Maximam Marks : 70
Note: i}  Answer any five questions.
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1y All questions carry equal marks.
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i) In case of any doubt or dispute the English version
question should be treated as final.

et ot e & wRg arerat frare ) UMY sttt Ty
& W Y sifdny wET S

t. Determine the forces in the members of the pin-jointed truss
shown in figure 1. 14
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Z, Determine the forces in aj (ye members of the truss shown
in figure 2 by using mcthod of joints. _ 14
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t | in figure
' ild steel bar 100 mm diameter is bent as shown in fig
> .;I::lis fixed horizontally at A and a load of 500 N hangs at D.
ﬁmw the bending moment diagram for the parts AB, BC a.nd
CD, indicating the maximum values. Find the maximum bending
sn'c'ss‘ also find the deflection at D. y
Take E = 2x10* N/mm?.
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4. A three hinged arch has ?P“Ljﬂm and a rise 4 m. The arch
carrics a uniformly distributed load of 20 ¥N/m on the Ieft
half of the span. Fi|_1d the hﬂzzmﬂ'tmn at each support and
location and magnitude of the Maximyp, bending moment of
the arch. 14
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5. Dctermine the prop reaction &d the defleciion o my
of a propped cantilever beamm shown in figure 4 The prop sinks
by 30 mm. Take EI = 15,000 KNy 4
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6. a) Determine the fixed end moments for the loaded
beam shown in figure 5. Also draw BMD for the beam

of span ‘1”.
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b) A beam 10m long fixed at both ends carries a uniformly
distributed load of 4500 N/m over the entire span. Find
the maximum bcnding and maximum bending dcflection.
Take E =200 kN/m? ] = 5%10? mm®, 7
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. The support B of a continyous beam shown in figure 6 has

settled by 12 mm. Find out the moments at supports. 14
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. Construct the influence line for a diagonal member UsL, of a

Warren truss with verticals shown in figure 7. 14
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